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Are your answers the same as the ones below? 

 

1. 23 is   2   tens   3   units 

 

2. 765 is   7   hundreds   6   tens   5   units 

 

3. 809 is   8   hundreds   0   tens   9   units 

 

4. 832 is   8   hundreds   3   tens   2   units 

 

5. 2,934 is   2   thousands     9   hundreds   3   tens   4   units 
 

6. 6,203 is   6   thousands     2   hundreds   0   tens   3   units 
 

7. 7,042 is   7   thousands     0   hundreds   4   tens   2   units 

 

8. 23,934 is   2   tens of thousands   3   thousands   9   hundreds   3   tens   4   units 
 

9. 90,462 is   9   tens of thousands   0   thousands   4   hundreds   6   tens   2   units 
 

10.  72,895 is   7   tens of thousands   2   thousands   8   hundreds  9   tens   5   units 

 

11.  56,005 is   5   tens of thousands   6   thousands   0   hundreds   0   tens   5   units 
 

12.  10,090 is   1   tens of thousands   0   thousands   0   hundreds   9   tens   0   units 

 


